

PO 167428 DMS REC 656244 **AGENDA**



Mr. Guy Matula Fort Bend County Engineering 301 Jackson St Richmond, TX 77469 January 24, 2023

Project #'s Mobility 2017 Invoice #'s 0342266

Due Date February 24, 2023

PO# 167428

Combined Invoice Total \$1,788.75

PO #167428/2017 - Professional Services Period: December 1 to December 31, 2022

Percheron #	FBC Project #	2017 Mobility Project Name	Current Invoice Amount
05.004808.0000	17313x	McCrary Rd - Drainage	0.00
05.005439.0000	17303	SH 99 - Phase 1	0.00
05.101519.0000	17304	SH 99 – Phase 2	\$1,788.75
05.000520.0000	17314X	Cinco Ranch TL	0.00
05.005816.0000	17307	Peek Road	0.00
05.006710.0000	17325x	Hunt Road	0.00
05.006831.0000	17320x	Fry Rd	0.00
		Total Current Invoice	\$1,788.75

Contract Summary

Invoicing Limits	Current	Prior Invoices	Total to Date
Total Invoiced	\$1,788.75	\$395,320.72	\$397,109.47
Total Contract Amount			448,245.00
Remaining Funds Available		_	\$ 51,135.53

Project Summaries

Project	Current Invoice	Total Prior Invoices	Total Invoiced to Date
McCrary Road	0.00	\$229,844.63	\$229,844.63
SH 99 Ph 1	0.00	79,874.01	79,874.01
SH 99 Ph 2	1,788.75	31,080.77	32,869.52
Cinco Ranch TL	0.00	28,646.84	28,646.84
Peek Road	0.00	11,963.79	11,963.79
Hunt Road	0.00	\$9,419.56	9,419.56
Fry Rd	0.00	\$4,491.12	4,491.12
•	\$1,788.75	\$395,320.72	\$397,109.47



January 17, 2023

Project No: 05.101519.0000

Invoice No: 342266

Due Date: February 16, 2023

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total \$1,788.75

Project 05.101519.0000 SH 99 Phase 2 - #17304

Professional Services from December 1, 2022 to December 31, 2022

Professional Personnel

	Quantity	Rate	Amount
Project Manager Kaplan, Arlene	18.0	90.00	1,620.00
ROW Agent Senior Miller, Rhia	2.25	75.00	168.75

Total Labor 1,788.75

Total this Invoice \$1,788.75

Billings to Date

	Current	Prior	Total	A/R Balance
Labor	1,788.75	16,467.50	18,256.25	
Consultant	0.00	14,500.00	14,500.00	
Expense	0.00	113.27	113.27	
Totals	1,788.75	31,080.77	32,869.52	8,466.25

Project 05.101519.0000 FBC-SH 99 Phase 2 Invoice 342266

PERCHERON INVOICE SUMMARY

Billing Period from December 01, 2022 to December 31, 2022

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
05.101519.0000 - FBC-SI	H 99 Phase	2 0000.02	- Produc	tion and Pr	ocurement	100.000 -	Project Ma	anagement							
Kaplan, Arlene	18.000	1,620.00													1,620.00
Total 100.000:	18.000	1,620.00													1,620.00
05.101519.0000 - FBC-SI	H 99 Phase	2 0000.02	- Produc	tion and Pr	ocurement	150.000 -	Acquisitio	ns							
Miller, Rhia	2.250	168.75													168.75
Total 150.000:	2.250	168.75													168.75
Total 0000.02:	20.250	1,788.75						-							1,788.75
Total 05.101519.0000:	20.250	1,788.75													1,788.75
Invoice Total:	20.250	1,788.75													1,788.75

PERCHERON INVOICE DETAIL

Billing Period from December 01, 2022 to December 31, 2022

Date	QTY	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
05.101519.0000	- FBC-SH	99 Phase 2	0000.02 -	Production		curement	100.000 - P	roject Mar	nagement							-
Kaplan, Arlene																
12/2/2022	1.500	90.00	135.00													135.0
Work Detail	P101 and	pipeline co	mmunicatio	ns.												
12/5/2022	1.500	90.00	135.00													135.0
Work Detail	P101, Cei	nterPoint ut	tility easmer	nt discussio	on and ema	ils with Kev	in M. and M	chael Goh								
12/6/2022	1.250	90.00	112.50													112.
Work Detail	P101 - Ce	enterPoint F	PUA prep an	nd attachm	ents to Guy	. Guy called	d to discuss	needs and	best plan.							
12/7/2022	2.250	90.00	202.50													202.
Work Detail	Cummula	tive time or	n CenterPoir	nt issues a	nd concern	s. Different	people at Ce	enterPoint i	needed info	not realizing	g we are w	orking with a	thers at Ce	nterPoint an	d making pro	gress.
12/9/2022	.500	90.00	45.00													45.
Work Detail	Invoice re	view and a	pproval for p	oroject.												
12/12/2022	1.500	90.00	135.00													135.0
Work Detail	Connecte	d with three	e pipelines, l	Kevin Mine	eo and TxD	OT (Thien)	who also ne	eded upda	te.							
12/13/2022	.500	90.00	45.00													45.0
Work Detail	Approve F	BC invoice	es													
12/14/2022	.750	90.00	67.50													67.5
Work Detail	Working o	on setting u	p closing an	d meeting	needs with	title for P10)2									
12/15/2022	.750	90.00	67.50													67.5
Work Detail	Discussio	n with prop	erty owner f	or remote	closing P10	02										
12/19/2022	.500	90.00	45.00													45.0
Work Detail	Working t	hings out w	ith new title	company	for closing	102 and 103	3.									
12/20/2022	2.500	90.00	225.00													225.0
Work Detail	Project su	ımmary for	Kevin and T	xDOT. Als	so evaluatin	g title issue	s and needs	with title c	ompany and	d property o	wners.					
12/21/2022	1.000	90.00	90.00													90.0
Work Detail	Got direct	ions from ti	tle company	and sent	emails to 1	02 and 103;	answered of	wner ques	tions and p	rovided doc	uments for	review.				
12/22/2022	1.500	90.00	135.00													135.0
Work Detail	Issues wit	th release a	and old deed	ds title com	pany wants	s cleared for	clear title.	mails and	calls to prop	erty owners	s and title c	ompany.				
12/27/2022	.500	90.00	45.00													45.0
Work Detail	P103 issu	es and con	cerns. sent	emails and	d made call	s										
12/29/2022	1.500	90.00	135.00													135.0
Work Detail	Helped pr	operty own	ers with title	company	requiremen	nts for closir	ng; title comp	oany not av	ailable.							
Total Kaplan, Arlene:	18.000		1,620.00			,				,	,					1,620.0
Total 100.000:	18.000		1,620.00													1,620.0
05.101519.0000	- FBC-SH	99 Phase 2	! 0000.02 -	Production	on and Pro	curement	150.000 - A	cquisition	ıs							
Miller, Rhia																
12/2/2022	.500	75.00	37.50													37.5
Work Detail			v Pipeline K	MZ and dis	scussed wit	h PM										01.0
12/5/2022		75.00	37.50													37.5
Work Detail			SH 99 parce	els												07.1
12/13/2022		75.00	75.00													75.0
Work Detail				maile with	General Ma	anager and	title compan	v re: proof	of authoriza	tion of Com	munity Δec	ociation to e	vecute clos	ing documer	nte	75.0
12/16/2022		75.00	18.75	WILII				, 16. p1001						g documen		18.7
Work Detail				norizina sa	le of R/M a	nd signature	a authority F	Resnonded	with email	with informa	ation to pre	are for closi	ina			10.7
Total Miller,	2.250	Josiveu IVES	168.75	ionziny sa			Jaumonty. I	sporiueu	with citiali	***************************************	on to piel		y.			168.7
Rhia:																
Total 150.000:	2.250		168.75													168.7
Γotal 0000.02:	20.250		1,788.75													1,788.7